
  
SUBJECT-MATHEMATICS, CLASS-IV 

CHAPTER-4(DIVISION) 

WORKSHEET (BASIC) 

TIME-45 Min                                                                             MAX.MARKS:20 

 

  Choose the correct option:        (2×1=2) 
1. If Divisor = 5, Remainder = 3, Quotient =9 then Dividend =______? 

 
a. 17                        b. 48                        c. 45                      d. 32  

 
2. 5 lakh× ______ = 50lakh 

 
a. 0          b. 10             c. 1             d. 100 

   Fill in the blanks:                          (2×1=2) 

3. 10 ×_____= 9,000 
 

4. 7,612×_____ =40×7612 

   Answer the following question:             (2×1=2) 

5. Divide 118 by 6 and write the quotient. 

6. Divide 0 by 8 and write the quotient. 

   Short Answer Type Question – I            (2×2=4) 

7. Divide 2,142by8 and write the quotient and the remainder. 

8. The cost of five pens of the same type is Rs.75. Find the cost of one pen. 

    Short Answer Type Question – II             (2×3=6) 

9.  A 75m ribbon is cut in to 15 pieces of same length. What is the length of each 

piece?   

10.  Given that 270× 15 = 4,050.Find the product 270×16. 

    Long answer type question:       (1×4=4) 

11.  Divide &check your answer: 

     9885 by 46 

 


